VIt

1/4

file:///C:/reskett/HAS/normal.html

YEEHR—E (—i&mIT)
== =
SoihiEER (IP9Y) <«meserise Bx
No| ot | T | BT % WHEMA| L [t A migtp | BF | FEFE | g | een
1 [27938|ZR |R % N AR EEES1S  |300 69.00 |20.87 L%k 60 160 |Z=fE0 £
2 [27763|=R KB NAEBTESH 380 115.70 |34.99 |= 60 150  |hEF =5
3 28885\ %R |HETITE |V AHEES154 480 114.02  |34. 49 ;’ﬁ@fﬁ#:‘: f*;giq“'%’% 60 150 |pRé: AR

n — e - E_ATE FEL B L
4 |30897|ER | HEE N AFSE F A O 5584 [499 65.67 |19.86 |=Hh ZZETE 6o 0 |ZE n
5 |30033|ZER |FRI1TE |NAIFRITEIES4% (570 76.46  [23.12 |En ggg% 60 200  |ERE4 AR
6 28924 ZEX |FF2TE N ARF2TEES3% 600 60.92 |18.42 |t FE1EERE |60 200 |H= FE
71308812 [HB2TE N AAEFAOES2S 698 159.10 |48 12 |= Z-BERE |60 200 |BR& AR
8 |24898|=X [METATE N ABETAT BES4% 749 57.65 |17.43 | ETE 60 160 |mET =& |
0 [22037|ER |EHEITE |N A 5rAESIS 880 110.97 |33.56 |= Zi@EE |10 200 |midt =
10(20328|% X |FH2TE  |WAFR2TEES2S (890 93.93  |28.41 |=#h %é%q’% 70 200 |BR& AR
1130621 |2 X |#L6TEB |0 2% s AES14H 1.176.3 |147.44 |44.60 | %&%EP% 60 200 |FzZ =M
1230955 %R [MA3TH |V AMELBADESS(1,200 [131.80 [30.86 |Eith e Sl 150 |E%& &N
1321431 |2 |[BHELE |V AEELESS 1,220 |157.39 |47.61 |t %E%“"E 60 150 |F#mm  |EM
14[30619|2 K |#@&)I3TH |n AB&IIEES5%  |1,250  [102.95 [31.14 |@ E—_BEE |60 160 |m& =
15(30622|% % |#&6THC |0 iEsrAES14H 1.273.8 |140.45 |42. 48 | %E’gq’% 60 200 |BZ= =M

R = E_ATE FRER| (B |

16(30890|% R | E+1TE |WiktESsis 1.286.4 |88.60 |26.80 |= ZZETE oo 200 |THHE £
172866136 42T EB |\ FAEKRFIREADESO 417 68)213.04 |64.44 |23t HIMER |60 60 |meid Bl
18]28660|= R |dt2TEA DA ARFIRBEARES6 | 597 9 (220 60 |69, 45 | E1BERE |60 60 R i £
19/28877| =X |+ N AT EH3% 1,560 [252.90 |76.50 | =i, M@t |miw 60 200 |migm ET
20(28662|2 X |2 T HC ’;}”tﬂq’ﬁk':”%*ﬂ1,712_48 257.35 |77.84 |&Hh ZUEERE (60 60 iR 811
21(27207| X |1 %% 8T N AABEETESA%  |1.800  |107.97 |32.66 | EREZE |80 300 |Baf =&
22|29985( 5 & |HLIET N RBK L BT S 5245 1,895 |156.76 |47.41 | %é%q’% 70 200  |HEdt %+
2321073 ZER | FEBR  |n MEEADESH205 2,500 |908.07 |274. 69| & He WG 60 200 |migm ET
24(30825| 2R |ERI1ITE |WAEEITEES3S (2,600 |148.77 |45.00 |&ih %égq”% 60 160 |= £
25(20373| %K |ERHEITH | ALRABSH 2,964.65(165.00 [49.91 |M - 4 e 60 [ Heh
26129375 2R [BR4TE |V ARIAMETES3S  [3,051.02(325.38 (98,42 |£it EZETE 6o 60 FL =m
27(29986| =X |Z=8] N A— BB 555 3.124.8 |172.17 |52.08 | &t T =T *k
28[30082| X & I3TH |N AF AR ES 25 3.170 |350.00 |105.87 M ETE 60 200 |BEm S
20(31340| R |FR#2THE |WAlERsEdbif=524 |5666 [295.00 [89.23 | %ﬁé%qj% 60 200  |#A #h
30[30453| EX |FERAT (N AIEERATIEH25 (5,700 [162.80 |49.24 |tk EZETE oo 160 = 5.
31|30957|% X |AmET ’{‘Hﬁﬁfmﬁm*. 6,500 [201.95 |61.08 | EREE |80 200 |4 Fh
32020022 =X Wit N ANFEAES5 7675 |1,017.00|307. 64| M@ th = Bl
33|31022| £ R |FBEREAT |V AEMLZEAIES145 10,800 (200.33 |60.59 |EH %é%q’% 60 200 |z oA
3420032|ZX [FAITE N ALFEES2% 13200 [901.77 |272. 78|= 4 ETE 60 200 |H= FE
35(29471 'Fé""ﬂ HHEESTE |0 A EESAS 350 129.63 [39.21 |Eih. i@ %EE%EP% 60 60 E@A= E@E
36|29899 E’?ﬂ GAEE N ARAE S35 458 54.21  |16.39 |=#h T 60 200 | KEFH xE
37(28122 %’ﬂ Fil N AFHES 25 460 69.10  |20.90 |Eh —EERE |60 200 |E@Ed EMEH
38129828 '%ﬂ MES2TE |V AFBEESS 598 104.38 [31.57 |= T 60 200 |EM EME
39(28385 '%éﬂ RNFHRE LS NV AFRE - AEH4 600 124.87 [37.77 |t ZIEEE |70 200 |EMFE M
40(31080 "%éﬂ CEe N AT B S 564 650 79.57  |24.06 |= E—EEE |60 200 |EME EMFE
41(29652 '%éﬂ DE N ARSI EE S35 650 85.34 |25.81 |Eh E—EERE |70 160 |EMEd E@A
42[20200 Z7 |07 NAKRE - AEES3S (700 [150.70 [48.30 |Eih E—HERE |60 60 |REE M
43(26819 fgﬁf HE NAKGEABEADES14 (730 98.60 |29.82 |&h Z_EER (60 200 |hE hE
44[25470 27 | NAKEAEADES4H 1774 [128.00 [38.72 |18 EZRTE oo 200 [hB S
45|26808 %ﬂ NG N A AL EH24) 794.25 |100.67 |30.45 |= E—BEE |60 160 |EM@ME S35, 111
46|27692 %ﬂ th e N AKGEAE A O 2544 (800 110.00 [33.27 E—BEE |60 200 |hE hE
47130390 %ﬂ HH2TE |0 AT 4% 1,015  |64.56 |19.52 |= ETE 60 160 | KEF xE
1820134 E7 \RBITE |V ALBOBS6% 1,100 [112.24 [33.95 | EHER (60 @ L

2022/06/15 16:37



VIt

2/4

BARNE

file:///C:/reskett/HAS/normal.html

No| e | X | Era %3 @HHM L |tim  HE GRS IR e S VL S S

4922624 éﬂ =R N AR BESHERTES24 1,100 [162.00 |49.00 | i 60 200 |Afe &

50|30980( 27 |07 NI FRFRBMEA |1 150 |968.32 |292.91 4. #Es 60 200 |EHE RE
ﬂ: . " b — —é—

51/31191 'iiﬂ %EH“‘TED'Z NATHRE2TBIES4% 1,337 102,77 [31.08 |=th %EEE"E’ 60 160 |E@H EMFA
jﬁ: . . b — —é—

52(31189 'iiﬂ %@H“TEBB NATRF2TEIES4% (1,385  |106.47 |32.20 |t %E%EPE’ 60 160 |EMHE EMEf
™ . N = — =

53(31190 gﬁf %@L?‘TECB NATRF2TEIES4% 1,391 |106.92 |32.34 |=h %E%EPE’ 60 160 |EM@AHE EMEF

54/30997 E’%ﬂ hE NAKGEABADOES44 1400 [321.00 |97.10 |m@ E_EER (60 200 |hE ;ﬁ'

55(30032 %’ﬂ INECEH# W ATE AR ILIES4% [1,500  |121.06 |36.62 |Eh E—EERE |60 200 |EmZmM@ B

56(30959 %ﬂ J\E2TE (W A\E3TEES14 1,600 [69.68 |21.07 |£is EREE |90 300 |HTF A

57(29895 Eéﬂ ith P N ABRFEEYEES845 1,600 |315.46 |95.42 |t 40 200 |mZmM@ HEM

58/30931 Eéiﬁf INEEBS M | ATEE AR ES4% |1.600  |123.94 [37.49 | Z—@EER (70 200 |EZmM@ = 2
55 = \ N g \

5929263 fgﬂ E‘%@EGTEE’ NAESEAREESIS 1,780 (222,58 |67.33 | £ ﬁgﬁﬁ’g 40 40 HEA 2

6030930 Eéﬂ INEASH (N ATEKE LI E545 (1,790  [153.55 |46.44 | E—BEE 60 200 |mZM FEet::

61/30882 'éﬂ FH2TE |0 G ES14 1,890  |92.69 [28.03 |=h EREE (80 300 | KB A B
A . L e — =

62/31192 'iiﬂ %EH“‘TEF'Z NATHE2TBIES4% 1,997  |186.87 |56.52 |=th %EEE"E’ 70 160 |E@H EMEFH

63251932 | % m N A% EES TS 2,000 |330.80 |100.06|=Hh F-BHRE g 150 |E M@ SR
=3 BiEE

64/29133 'éﬂ E#2TH |VAEH2THES2S 2,550  |163.90 |49.57 |2 EREEE (80 300 |thm xE

65/31289 éﬂ oEe N ATEBEH =545 (2,600 [262.93 |79.53 | Z_EER (60 200 |EmEIL EME

66|28494 E’W ERDEH |0 AEREEES4S 2,680  |164.16 |49.65 =i T2 60 164  |EAF R 4E )|
5 SEMSEDERS - ZE_fahe

67/30952| =7 |m— g ff{'ﬁ** SEEBNB159 750 (305,25 (92,33 |=# %E?"” 60 150 |E=m H

68/30148 %’ﬂ J\IBSTE  |N AEEERES64 (2,800 |181.03 |54.76 |Ei gé%"’% 60 200 |BHTF =

69| 25555 Eéiﬂ * 2 N AHEESTH 3.100 |434.82 |131.53| = g‘*ﬁﬁ%ﬁ 40 60 x5 &

7030525 Eéﬂ ESATE (N ATEHATEIES14 (3,300 [202.56 |61.27 | EoEER (60 200 b x®

71|31176 '%éﬂ AFEITE (VA& FESTHESIS |4 111.62|234.38  |70. 89 %é%q’% 60 200 |E@AE E@E

72/31293 Ef* BESTHE |V ABKERBIES5S[703.5 (7753 [23.45 £ %é%q’% 60 200 |tREE 5@

== == ==

SeRIEEH (P9Y) «meserse Bx

No| g || BT 3 WP | tapni |+iptr |y mym| R W |RER| MR | PR

1 [50183|ER (15~ & NAKBAES]5 680  |234.86 |71.04 |59.62 |18.03 |3LDK rEERET |H2/6 |y B  |Br 5

2 [51376| = | N ABRET BB S35 900 |132.24 40,00 |88.60 |26.80 |3LDK KB RE H22/3 |RiGTE | BRA

3 BII2[ER|EAITE [N A= ES4% 1100 |74.32  |22.48 [82.96 |25.00 |— = REERT  |H2/6 |BA &= h

4 [49657|ER |BA/4TE |V ABEA4TEES2S  [1,200 [66.13 |20 00 |70.38 |21.28 |3DK REERT  [S52/5 |FAE  |m®

5 [52537|%x %3‘*7‘:” N ATRRI ] 24599 1,229 |71.84 |21.73 |77.84 |23.54 |4LDK K iE R H20/4 |GRHe £

6 51597 X %3'”:” N ARRH 1S 564 1,580 |127.41 |38.54 |84.25 |25.48 |3LDK KR H21/3 |GRHe £

7 |51305| &R #£2T B ’,J‘;WE%"”’E%W%*G 2,498 [95.31 |28.83 [82.80 |25.04 |3LDK KR Fz =M

8 [52624|ER [HETITE |0 ARERETEIRES 142 499 |104.49 |31.60 |91.91 |27.80 |4LDK REERE HI1/9 |H= T

0 51450\ =R |2 AROM |N AZEAM D2 RAIES55 |2, 680 |203.67 |61.61 |132.48/40.07 |3SLDK KB EE H12/6 [RAE |£%#0

1051441 | X %IEZTE‘ N AP BTS84 (2730 |149.68 |45.27 |112. 62|34. 06 |4LDK Ky oRE R AR i AR i

1152785 E X [FBAMAT | ALEES45 2,750 |122.00 |36.90 3SLDK KRR R R

12|53090| 2= X ,‘i;'fg”ﬁ‘ N AEEE AL iS4 2,990 |71.91 |21.75 |91.80 |27.76 |3LDK KRR H#E %5

13/52411 | %R ét@*”ﬁ NATHREATEES25 (3,180 [66.96  [20.25 [113.02(34. 18 |4LDK R IMER & =

14[52410/zx [\EREAT B |3 (e maT B 524 (3,180 [61.99  |18.75 |103.00[31. 18 |4LDK KRR & = h

15/52189| =X B2 1T H |~ 2B T BES3% |3,220 |122.24 |36.97 |93.56 |28.30 |3LDK K& 2R BE=m |E=

1653041 |2 X ﬁgﬁféﬁfﬁ N A R BT S 5564 3,200 |112.75 |34.10 |100.81/30.49 |4LDK Ky oRE R mElE  |ES

17152929 |2 [f%%%ﬁﬂﬁ NAEREILESAS  [3.390 [126.98 [38.41 |96.87 [29.30 |3SLDK s %= B rh

18]49162|ZER J1&3TH |N ARERIES25 3.500 |675.29 |204.27|135.79/41.07 | =A& HEEIEECT [343/3 |FREAR |BL

1952928 |2 X ;\t%%f”ﬁ AL REAESAs (3,500 [128.60 [38.90 [96.67 |29.24 |3SLDK K] e &= = h

20(51881| 2R |{LRHITHE |\ AL SHES35 (3,780 [90.34  [27.32 |102.78/31.09 %ﬂg;ﬁé“é KR 3 R ey

21|52402| X 1'3;;“%3752 N AEETATBEST4 (3,780 |124.87 |37.77 |101.85/30.80 |3LDK K R 3 R T iz 1|

2022/06/15 16:37



VIt

3/4

file:///C:/reskett/HAS/normal.html

No| o || BT 31 W | tsoni | Lot @on @mm MR s FEA| MFER | RER
22/52031| %R |FEFT B |n 2k @5 (3,790 [97.64  [29.53 103.49/31.30 |35LDK R ImE B Hep
2352930| X ét%%%*ﬂﬁ AL REAES4% (3,990 [97.80 [29.58 |103.08[31.18 [3SLDK ] e & i oh
24\51979| SR |RIAAHT [N AH4 1T EEH45 4,000 (231,61 [70.06 |142.43/43.08 \E=PE: [smope He/5 |EmE  |EE
2552308 R | FVESTE v amrmieang 58 [4,180 [114.73 [34.70 [98.12 (29,68 |3LDK Koz B Hep
26|52249| ER | HEITE |BBEEES15 4,880 [234.70 |70.99 |260.12|78.68 |mE+6DK RO1& 3 g2 $57/12 ;%E gﬂ.j | ®
27|51088| =X | BB EET | #%kn AF B MERS 155 |5,500 |138.57 |41.91 |92.74 |28.05 |3DK R Hi8/7 |2 5,
28/49735| 2 X | FL 15 AT SRR 145 6.000 |1.410.63/426.71|161.11/48. 73 |6SLDK REERT  |T14/1 |1BA % o
20(51576 2 X | K = ABT  |N AKEAEEH25  |7.200 |499.75 |151.17]127.39]38.53 |3SLDK AETE Hod4/1 | & m& RHE
30 52313'@%’35EI B :ﬁ*r REEMIFEIFDS 530 |165.28 [49.99 |104.33/31.55 |2LDK Ky oRE R me 2
31/52692 %’ﬂ LFHFE  |JREENERS 125 1,370 |105.95 [32.04 [83.72 |25.32 |3DK K oRs $52/2 |EME |E@EE
32|52466 %ﬂ FEISE |\ ATEES5S 2,080 |110.85 |33.53 |98.95 |29.93 |3LDK K oRsE mE hE
3352523 Eéﬂ hE3EE N AR BRSBTS 2,280 |163.80 |49.54 |105.99|32. 06 |4LDK KRR mE hE
34/46339 %ﬂ TE B AT EILES84 (2,350 (91.81 (2777 [91.36 |27.63 |ALDK+n7h | AEomER XEE |@h
3552542 '%éﬂ HE N AT B 55 2.380 |167.44 [50.65 |101.02/30.55 |4LDK KR hE hE
36/52612 %ﬂ HEFMATE | ATEGEE =545 (2,499 100,15 |30.29 |87.05 [26.33 |4LDK K oRE Ho3/4 |[EM®E |EM@AE
3752804 'j%ﬂ EH6TE |0V AEHOES44 2,790 [173.20 |52.39 |105.99|32. 06 |4LDK R R g E@®E W
38/52605 %’ﬂ AFHM |V ATEFELE ES105 (2,800 |382.80 |115.79/192.11(58. 11 |6LDK KRR Hi4/1 |[EM® |EM@AE
30/51220 27 fggse N ARIBRES65 2,800 |141.49 |42.80 |96.06 |29.05 |4LDK K& 2REE Emit |EEE
40 52619>'j§"35EI EM3TE |[WATEH3ITHEIES25 (2,959 |100.67 |30.45 |81.97 [24.79 |30K KR H8/7 |thm X8
23] N AHR <& 5% ) 47 B = 45 Al A Rk B Bh
4152504 Z7 TR | FHEEREEER 2,069 |85.96 |26.00 |95.96 |29.02 |4LDK KRR Hi2/3 |F2m |2
42|53103 E’W AADER |V BS54 2,990 [120.98 [36.59 |99.05 |29.96 |4LDK KRR x5 &
43(52190 %’ﬂ FHE N ABIEE 564 3.070 (99.93 |30.22 |86.38 |26.12 |3LDK AR E@L |E@E®E
44|52255 %ﬂ BHEITHA |V ABEEHADES25(3 180 |74.70  [22.59 |129.81(39. 26 |4LDK KiEIRE R R 5 =
45/53101 Eéﬂ KABERE |V EmNES45 3,190 [125.03 |37.82 |104.12|31.49 |4LDK KRR X8 A
4651096 'ﬁ?ﬂ R E AT ’,‘];W“”Eiﬂ)\':'%’f“ 3,280 |157.10 |47.52 |79.48 |24.04 |3LDK+n7b |AoReze H30/5 |JIIE EME
4752545 '%éﬂ KH2TE |V AUNE2TEIES34 (3,380 [100.00 |30.25 |136. 044115 |5LDK BEHEEINE H12/3 | BT =
48/53100 %ﬂ AAASR |V EIEH44 3,390 [132.55 |40.09 |104.13|31.49 |4LDK KR X8 &
49150926 'j%’ﬂ %*ﬁﬁ@ N AL FEEFES105 (3,490 (300,63 [90.94 |110.84(33.52 |3SLDK AEFERET |H1/12EAE |E@AH
50|51849 'j%ﬂ hEEHE |0 AKEhEES34 (3,600 |140.66 |42 54 |250.81|75.87 |= AR HEBEIME  H8/12 | KEE |KE
51|52652 ';%’EI i N R B S5 44 3.600 |501.00 |151.55|293. 1388. 67 ggﬁ”%% KRR H4/3 E% | X |®& X
5250753 %ﬂ 5 NAEZE LS4 [3,980 (62.05 |18.77 |119.39]36.11 |3LDK AR T E@®E |E@AE
5348369 ';%"Zﬂ A#E2TH ’,]‘;”“o VIIRS-REIE 2 (0 000 |136.65 |41.33 |243.66(73.70 | == HE  |SEEMEE  HY/3 |=+E  |=
e 3] - QX4 i7 FL .

54|51513( 27 |t N ABFTEEAIES3S (4,500 (212,87 [64.39 [221.96(67. 14 |—shzx  (MESEREEB o611 TEE - mam
55/51835 'ﬁé’?ﬂ INE N ANELEES4% 11,000 [325.99 |98, 61 |503.00|152. 15| — s SxE MLz $53/11 %§§ | %g | ®
— ~
S aEHR (hY) smsscrise Bx

¢%1¢ =S 2 s | EEE BREFEILE .| N az- . - 2
No £ BT £ Loyt = () (A8) Efm m fie] B 1%3_% ﬁﬁﬁ INER =nf=ob o
1 79500 |ER ’E” BET2T | anisDETES24 250 4,500 |1,000. 00 17.56 5. 1 1R |RC5F/5F [$56/9 |%@ Kk
2 80169 |2 |5—5TH |0 A% ELE58% |390  [2,300  |10,000.00  |58.94 |10 JLDK|RCAF/4F [S51/6 |EEi%m EY
3180221 |BX |BEITE |85 E RE34  (850 (8,000 |7, 260.00 54.95 6.72  [1LDK|RC5F/4F [s54/3 | FeE RE $¢~ RE
4 180135 %X ’E” DRETTT ’7‘3”%%”5”5’ *211.000  |4.900 |4 000.00 20.72 3.7 |1DK |RCOF/9F %@ * Ik
5 180167 |ZX |—ZET |0 A—BEE524  |1.380 8,470  |13.920.00 _ |75.06 |8.24  |3LDK|RC6F/3F |H6/12 |BHT *E
6 |80204 |Z=X ;BB |n ATRETIES1%  |1,899 9,000  |9,000.00 75 52 |15.08  |3LDK|SRC16F/5F|S54/3 |2 WA
7180111 |ZER |EZ3TH BB EEERS44 |1,980 12,400 |12.800.00  |70.85 |9.75  |3LDK|RCTF/2F FRE o
8 80340 =X |BA6TE |V AEALTHES64 3 190 [20,100  |19.388.00  |106.53[14.7 _ |3LDK|RC6F/5F |H13/3 |+ M@ =
0 180139 | =X |ZHET  |h ABEEES2% 3,199 |13,300 |9, 000,00 84.08 |44.8  |4LDK|SRCI3F/8F |H15/10| 2@ *h
10179820 Eéﬂ E“'EGT NAFIEES35  [1.580 (8,460 |6, 380. 00 65.61 |0 3LDK|RC6F/3F  |H7/2 |IIE E@EE
11|80215 Eéﬂ B23TH |V €3 T E=534 (1,580 (13,300 |18,070.00  |82.80 |20.4  |3LDK|RC6F/4F |H3/4 |Hem @

2022/06/15 16:37



VIt

4/4

EEg

n h3=-

file:///C:/reskett/HAS/normal.html

No| #AHF | X | mra % fites | BER | BREIL \gam "M mm ome |®mER] s | eeR
12180344 | =7 @23 TH [N AtI23THBS35 (1,620 [13,300  [18,070.00  [82.80 [20.4  [3LDKRCSF/5F |H3/4 |FE M 2|
1380359 | | P APBEARERES 650 19,000 6,000.00 83.16 |25.87 |4LDK|RC14F/4F |H13/1 |5 =1
1479813 | E7 g WARBAREESS 11 700 19,000 6,000.00 76.21 [23.12  |3LDK|RC14F/10F|H13/1 |th & hE
1580170 | | P ARBERREES ) 800 9,900 |6,600.00 83.16 |25.87 |4LDK|RC14F/5F |H13/1 |th i hE
1680413 |7 |5t JREEGEERS55 (2,980 [9,600  |11,200.00  |85.82 |19.59 |4LDK|RC10F/5F |H17/5 |se2m 2m
1780090 |E |stsm NAKEAEESS (3,200 (8,300  |8,200.00 75.04 |25.9  |1LDK|RCI3F/11F HEm Gt
1878773 |E7 |mm1TE [REMRS95 4,500 |11,200 |18,860.00  |134.79 E&(RCIIF/IF R1/7 | xE

2022/06/15 16:37



